0.8 1

dT/dz (K/m)

dT/dz (K/m)

K/m)

~

dT/dz

dT/dz (K/m)

dT/dz (K/m)

L]

obs
ifs-ecmwf

0 1 2 3
0.8 1 e Obs
slav-rhmc
0.6 - *
0. . -
04 | ‘::.:.%:;,0.
R
04' 0.’:‘.
0.2 A : B, :
o 3 “.on‘
R YL AR
0.0{ 6> ¥
0 4
08 N ° obs
o arpege_gelato-mf
0.6 - *
0.4 A ' ° ’~.:'., LA ‘c
o8 o0 ° .
. .~..’}%":‘: °
P o, ® 1Y
e . o~ ool
021", LS,
.Q.’ .-..’: ;‘:.*:.; &
i\ J.". . ‘O‘C.':. :'f-‘ pACIE
0.0 { fote & &%

0 3
0.8 1 e Obs
« arome_gelato-mf
.0
0.6 1
0. Y
P .'.
o o, © o : e
04 7] ° :"&%’!‘:" .‘. °
$ o y .0.‘
R ...#;’?'.‘ §,°00°
° o® "
o’ ° !..o‘s'. & o8
0.2 97 s dicedifpgd,
RN Ll R L
?.o.“. 'C‘.‘.of TR '{ o 3
N e
0.0 { Pt is> o
T T T T T
0 1 2 3 4
1.0 A e Obs
aromearctic
0.8 1 °
*
0.6 ¢
P29 o
° L 5Y
° 0’ L4
04 T ° :.:: (.' (o
R LIS e::‘a’;‘«:
1 ‘.. ‘-o»‘{
0.2 . o, ‘:Q' of
L .': :)30 a0 %
"..o. d i}:‘::‘:"o %
[} [} [} 'Y
0.0 { fa° o» &

wind speed (m/s)

dT/dz (K/m)

1.0 ;, « obs
* e ifs-ecmwf
081 "%,
—~ . ‘f. L o8
£ Codih
> 0.6 *e .-:.r'.:;t'
N ey W
-Q 0 4 o 0“ g L) :.
— 0.4 4 ’0:‘ Y. )
N | gf}ﬂ} R
* P° > '.' .;o
0.2 1 .a % “co x:,i‘ ')"'.. o
s.o?. ‘7‘3 3 ° P
R L P
0.04 =« ° .
0 5 10
2.0 1
e 0Obs
slav-rhmc
1.5
€
¥ 1.0 %
N
= X o
= RITR
051 . %
3§& f;?.‘ .
0.0 "

0 5 10 15
1.04—;
e o0bs
0.8 ." o arpege_gelato-mf
oo,
0‘”0' L4
0.6 - ...{:.-‘,!..
* o 4
0.4 s KA GF
": .“! g
0.2 ¥ "&Eﬁ- 25i o
AR EL O
:o .‘ 1Y 1&0;’..’...'
0.0 . 0'.. Kd ..‘.k.‘. Se, 8
° .*.o 0 o0 ..:.
oo "
_02_ ° .... ° .‘.d"...
0 5 10

wind speed (m/s)

dT/dz (K/m)

dT/dz (K/m)

dT/dz (K/m)

:,..,,'. . e« obs
1.00 4 ‘-': . ‘e o ifs-ecmwf
-
..‘.
0.75 - . & ' &
0.50 . ‘5'
s S,
025 . © <t he .
° ° o® oo ¢ °
VRN
0.004 S Lo,
-0.25 ¢
0.0 2.5 5.0 7.5 10.0
1.25 - © Obs
slav-rhmc
1.00 +
0.75 A
0.50 +
s
0.25 1 k>, =" *
2 TN .
0.00 4 [=F s ey
-0.25 ¢
0 2 4 6 8
0.4 1
‘. . obs
0214.° - ° arpege_gelato-mf
N u L
0.0 N .s‘ .r o & Se
g ‘.. [
o‘;.?":z o. e .
_02 N : o.'g:oj..f-;‘.l. °
DS >~
—0.4 1 iflg.o < M ®e o°
‘ .... v"... ’ ° .. [ ]
—0.6 + °ed
-
~0.8 os®
0 2 4 6

1.25 A

wind speed (m/s)




